Tuesday

1. How many grammes in 1 3 kg?

2. Circle the odd one out:
1 2/4 5/6 4/8

w

6.54 x 100 =

»

71+ 5=

5. I spent 0.45 and 0.2 of my money. What decimal fraction
is left?

o

Write 0.43 as a fraction

7. A bus can carry 54 passengers. If each passenger pays
€3. How much money does the bus driver collect?

8. How much less than 920 is the sum of 456 and 325?

9. A movie started at 6:30 and finished at 9:17. How long
did the movie play for?

10.T receive €15.50 pocket money each week. How much will
I have saved after 12 weeks?

Wednesday

259 +341-=

0.2 < 0.02 True or False

6 pears cost €3.24. How much would 3 cost?

Double 27

What is the value of the underlined figure 23.45

SNICTE N

One side of a square is 3cm long. What is the
perimeter of the square?

N

Find 0.5 of 12

o

(27-___)+4=18

9. A school has 284 students and 12 teachers. How
many 70 seater buses are required to take the
school to a football match?

10. What must be added to the product of 74 and
29 to make 3,000?




Thursday

4 1/5 hours = minutes

83 -9-

Half 12.2

Write 10 1/100 in decimal form

SIENPINITS

Find the perimeter of a hexagon which has 4cm
sides.

o

Round 89.56 to the nearest ten.

N

Share 56¢ among 8 people. Write the number
sentence

200g of fruit at €5.50 per kg?

By how much is the product of 14 and 17 less than
300?

10.

The price of a season ticket to the hurling has
increased by 1/5 this year. If the ticket cost €250
last year, how much will it cost this year?




Friday

Find the product of 54 and 13

87 is less than 145

1,3,5,7, , ,

When I roll 2 dice, the minimum score is?

SIENPINITS

Count in 's up to 2.

—

o

Share €105 between 3 people. Each child gets
?

is 1/3 of 60

Find 2/5 of 40.

O N

Round 7,451 to the nearest 100

10. 12 hours = minutes

11. How many degrees are in a right angle?

12. A rope was 9m long. Two pieces measuring 4 3
m and 3m 56cm were cut from the rope. How long
was the rope then?

13. Jamie drank 350ml from a bottle of water.
There were 450ml of water left. How much water
was in the bottle to begin with?

14, Helen had €18.30, Jane had €15.43 and Emmet
had €11.80. How much money had the three children
between them?

15. By how much is 23.67 less than 38.97.




